Maths answers

Monday

Square numbers

a a) Use 16 counters to moke these orroys.

b) Whot do you notice about the shape of one of the arrays

1
S "

O Ao ioad

?

€) k16 a square number? How do you know?

° a) K it possible to make a square array with 8 counters?

o
b) k& it possible to moke o square array with 9 counters? 0D
€) Which number is o square number? H
How do you know?
You moVg O Soior orea Udvg,

A

&
®

° Which of these numbers are square numbers?

Cirde your answers.

(a)

10 18

° Dexter mokes a square using 12 counters,

What mistoke has Dexter

s SQuicee L5

2ia
square number as [

can make the counters

into a4 square

made?

ey phalee

° Whitney is working out a colculation.

8xB8=1b

What misteke has Whitney mode?
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° The arrays below show a sequence.

a) Complete the number sentences. Use the arrays to help you.

_u‘uB quuD uxﬂn! ExDu |

b) What do these numbers have in common?

gat e oLl SOUACEE. o
-

¢) Drow the next two numbers in the sequence and write a number
sentence for each.

' B
OO0 00 QOO0 00
O0000 QO000O0
~ ~ e leleololoNe
O m.\v R,‘\J oN@) WASREGATLAGES
000 O0C Q00000
00000 DOO0Q000

COoO0O0O00
SxS =85 -
bxi = 2
< =

d) What would the next four numbers in the sequence be?

¢ 4 N -
G pIoG | W) ] VOO
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° Complete the statements.

0- &= 3 b d) 0=
b) 122 =] LU e 1O k=100
<) 2\ =9 f) 4= g p
° a) Write the numbers in the table.
0 3 4 n a9
Foctor of 24 Not a factor of 24
‘Square number b 49
Prime number i

b) Write a different number in sach part of the table.

e Dani is thinking of o square number with 2 digits.
The digits add together to make another square number,

What could the number be?

e Huan is celebrating his birthday.

His age is a square number.

Lost year he was a multiple of 12

Next year he will be a multiple of 10

How old is Huan?
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Cube numbers

° a) Fit 8 multifink cubes together to make a larger cube.

el
(@llieliigtelieieiieie

b) Ik it possible to fit 9 multilink cubes tegether 10 moke
a lorger cube?

NO
Explain your answer,

g Wl e  org o ceEtean b

° Filip mokes a cube using some smaoller cubes.

0) How many cubes make up this cube? , a9

b) How did you work out the number of cubes?

3 2y =M™
X Ssx S =1

€) This number is an example of o cube number.
Why do you think it is a cube number?

(@)

Tuesday

o a) Complete the table of cubed numbers.

2 2x2n2 B
3 Ix3x3 a7
q 4x4u4 &G

b) What would the next cube number in the table be?

i
rd = 9 !n!nu .A.

(o)

° Complete the statements.
Use the cubes to help you.

a) s=| 125 b) 0=

S cubed = 125 10 cubed =

5x5x5= PR

Wx1W0x10=| | ¢
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° 0) Which calculation is the same as 6°7 o Calculate 77
Tick your answer.

6x3 6+6+6 bx6x6 -
u) 0 ud =
b) Kim has worked out 6° using this method. ° @
o :
b'=(bxb)xb 30 6
=3bxb o_waou_mo_Oxouwo_
=214 180 + 36 = 216 What mistake has Dora mode?
Why might she have mode this mistoke?
Is Kim's method correct? 50 e : : ,
ahe  =4n alaobed Lot meesued Sa oo oy
How do you know? ;
3 COkMNa Mo TN
ahe hos Cooccdia Slcadakend vl Sl Ouuraied
w
W O al Sa, &
° Scott's age is o cube number. @
) Match the cube numbers to the calculations. His sister is 2 yeors younger than him.
One has been done for you. Her age is a square number.
In 3 yeors, Scott's age will be a muitiple of 10
g - - ax2 How old s Scott?
5! > 9x3
2t — 16x4
E %3 Scottis| J 7 |yeors old.

¥ Ve Fusss Matts 2516

Tuesday




Wednesday

Multiply by 10

° Complete the calculation shown in base 10

mx.ﬁ:nﬂﬁa

5x10=|50

° Complete the number sentences.

e~._oua a:x_oua
sflouE a_oxauE
c_o.nuE aguw,s

Q Motch the bor models to the multiplications.

Tm_do_‘o_—m_am_ 5x10

™\
//\I

[iolio[tofiolio[ia[iofiofia] —— “— &x 10

° Tom has 10 boxes of eggs.
There are 12 eggs in each box.

How many eggs does he have altogether?

Tom has E £gas.

° Complete the sentences.

H T

0O|0|0(0[0|0]0|0|0|0

Each row has| | _nm: and Ho:ﬁ
There are H rows.

?nno_n:_oao:w_ 13 _x— (@) _u_ 120 _
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Wednesday

° Use counters on a place value chart to work out 23 x 10

23x10=|790

= I\

° Which of these is the odd one out? Tick your answer.

There are 10 There are

There are 7
teams with 10 red flowers ten frames with
7 players on and 7 yellow,” 10 counters
each team. mos.ﬁa\\ in each.
o - — \lvil — —
Talk about it with a portner.
° Complete the calculations.
a) 45 x 10=| LSO e) 10x| |y |=140

b) 36 x 10=

(%)
o~
-4

| oo [=40x10

g) 32x10=10x| 32

9|70 |=10x78

d) 31 x 0 |=310

h) 670 =2 x5 x

° Eva walks 60 m to school.
Teddy walks 10 times as far as Eva to school.
How far does Teddy walk to school?

Teddy walks | £00 m to school.

®

(@)

e Amir thinks of a 2-digit number.
He multiplies it by 10

Write all the numbers Amir could be thinking of,

6. 99 8. 79

e Chocolates come in boxes of 8 and 10

Rosie needs to buy 80 chocolates.

a) What boxes could Rosie buy?

-~

10 boxt? o¢ §

o

8 baens of IO

: ) : -
S bawn of § sad U bovtn 5% |

b) What is the fewest number of boxes Rosie
needs to buy?

®)




° Match the images to the colculations.

Complete the colculations.

- 100 jj| 100 100
° Complete the calculation shown in base 10 9 %100 =
100 100 100

M”“o“cuﬁ_W_D:S&&m EEEE . 6 x 100 =
€) complete the number sentences. @ ﬂ@mﬂnﬂ

..:.LSuI 5?,,8"_H_ ﬂﬂm‘ﬂﬂ :loou_H_
_.Z.LSuB R AS.suD

o Complete the colculations.
o There are 7 boxes of 100 crayons. a) 32 x 100 = I d)Sx7 =x100= I

szx_oou_. _ 3_

d

0

o 100x8=

x 100 = 6,500

0 100x[ 55 ]-30m

Circle the cakulations thot work out the tota! number

ﬂv 100 x 72 =

of crayons.

100+7 (100x7) 7+100 (7x100
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@) cokulate the perimeter of the rectangle. © @) Ami thinks of o 2-digit even number. @

Sm He multiplies it by 100
¢ » His onswer is greater than 3,450 but less than 3,750
— . Write the number that Amir is thinking of.
im
Give your answer in centimetres. ° Four children are making numbers using base 10
The table shows how mony of each piece they use.

36

The perimeter of the rectangle is| | 400 |om

Vareuo
n!:tn.vﬂ “

a) What number hos Eva mode?

° Write <, > or = to compare the statements. I, 300
b) Who has made the biggest number?
a) 45 x 100 45 x 10
Desdar
b) w?._S@_S..wm N
<) Whitney has made the same number as Eva.
9 _SxB@KiS A M L
Whaot pieces could Whitney have used?
d) 31 x 100 @ 31 x 10 x 10 Write your answer in the table.

Are there any other answers? Talk about it with a partner. @

e) gx.o@wxao
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Friday

¥ White §

‘N 3
| 3 ¥
X

Multiply by 10, 100 and 1,000

° Complete the multiplications.

"
7

a)

Th | H

7x10=| 20

Vo

39x10=| 390

3 9
(3]
o] -
205x10=| 2,050
2 0 5

d) Whot happens 1o the digits when you multiply by 10?

° Complete the multiplication senteénces.

a) 9x 0= acy &)

o
0N

b) 54x 10= SLO f) 10x 15

¢ 0x13=| |39 g)20x10=| 900

d) 126 x 10=| |00 m| =oo |x10=5000

° Multiply each number by 100 and then by 1,000

9x 100 = 0

" [~ [ - 1
9

9 x 1,000 =

o [l = [+ 8]

16 x 100 = , 600

16 x 1,000 = 1§, 00

245 x 100 =

24,500

.

245 x 1,000 = 24 5,000

d) Explain to a portner how you multiply o number by 100
Ak them to explain how to multiply by 1,000

° Complete the multiplication sentences.

a) 45x100= L, S00 ¢) 41 x10= Hie

52 x 100 = S 200 41 x 100 = &

70 x 100 =

+i
*
o

O M x1000=| i 000

b) 612x 100=| &, 200 d) 10x952= 9,5

715 x 100 =

&
N
5
3

00x952=| 95 9¢

720x 100=| 39 coo 1,000 x 952 = q

o




Friday

o Write >, < ar = to make the statements true.

o) uhx.O@.\mx_S
b) _wa0°mmx_oo
q owo:-oo_ooxww
d) 1,000 x 482 @ 482 x 100

54 x 1,000
is the same as
S4x10x10x 10

s Rosie correct? 100

Explain how you know.

Complete the multiplication sentences.

a) 52 x 100 = 5,200 f) O x 370 = 3,700
B)95x| (¢ |=950 o| g7 [x100=8200
Q13%x| o |=130 M| 20 [x100=82000
d) 272 = Joo0 |=272,000 1) 1900 |x 10 = 39,000

e) 5,200 = 100 x 62 §) 1,000 x 80 = 80,000

° Ron and Dani have paper rounds.

Ron delivers 75 papers a month.
Dani delivers 10 times as many popérs a month as Ron.
How many papers do they deliver altogether?

Mrs Hall owns o bookshop.

« In January, she sold 145 books.

« In February she sold 10 times as many books.

« In March she sold 10 times as many boaoks as in February.
How many books did Mrs Hall sell in March?
Show your workings.

Compare answers with a partner.

Amir thinks of a number.
He multipties it by 100

The answer has the same digit in the thousands and
hundreds columns.

The total of all the digits s 8
What could the number be?
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